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&2 AEBH A=
Tm 50cm Ocm

1 BREARKIR 0.080 0.078 0.082
2 e AES 0.102 0.092 0.102
3 BINEHE 0.072 0.078 0.092
4 ABEERIRKTR 0.074 0.060 0.060
5 AREERRKTR 0.068 0.070 0.078
6 BEHARKTR 0.078 0.082 0.082
7 HRIERI L-FU 0.100 0.100 0.096
8 HRIBREIL-FUY 0.086 0.096 0.112
9 T HRATRK <R 0.082 0.088 0.084
10 |BfiEEI L-FU7 0.100 0.110 0.126
1M |[BREEEIL-FU7 0.086 0.090 0.098
12 |[MBERRKTR 0.102 0.102 0.100
13 |EEEmImIL—FUY 0.078 0.076 0.084

=XE 0.102 0.110 0.126

=/ME 0.068 0.060 0.060

FHiE 0.085 0.086 0.092




